
Part 7 - Insert a Sentence Practice 
 

 
 

1.​ In which of the positions marked [1], [2], [3], 
and [4] does the following sentence best 
belong? 
 
“That discovery pushed back the date of 
human habitation in Australia by 20,000 
years.” 

 
a.​ [1] 
b.​ [2] 
c.​ [3] 
d.​ [4] 

How do you know? - Discuss NOT Write! 

 
 
 

 

 
 
 

2.​ In which of the positions marked [1], [2], [3], 
and [4] does the following sentence best 
belong? 
 
“By next year it could go into production for 
other vehicles.” 

 
a.​ [1] 
b.​ [2] 
c.​ [3] 
d.​ [4] 

How do you know? - Discuss NOT Write! 
 

 
 

 



 
 

3.​ In which of the positions marked [1], [2], [3], 
and [4] does the following sentence best 
belong? 
 
“Currently, octane levels are measured by 
determining how much a special test engine 
‘knocks’ during combustion.” 

 
a.​ [1] 
b.​ [2] 
c.​ [3] 
d.​ [4] 

How do you know? - Discuss NOT Write! 
 

 

 



 
 

4.​ In which of the positions marked [1], [2], [3], 
and [4] does the following sentence best 
belong? 
 
“These works highlight how artists from our 
country responded to key artistic 
developments of the period.” 

 
a.​ [1] 
b.​ [2] 
c.​ [3] 
d.​ [4] 

How do you know? - Discuss NOT Write! 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 



Answer Key:  
 
1(D): The phrase “That discovery…” is referencing the idea from the previous sentence. 
 
2(D): Word “it” references the brake pedal that is currently being tested.  
 
3(A): The sentence describes current evaluation methods which were mentioned in the previous sentence. 
 
4(C): “These works” refer to the paintings done by local Australian artists. Letter C is the only paragraph that 
specifically mentions the contribution of Australian artists.  

 
 
 
 
 
 
 
 


